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:RUOG ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

$GYDQFHG�(FRQRPLHV ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±����

8QLWHG�6WDWHV� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±����

(XUR�$UHD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

)UDQFH ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

*HUPDQ\ � � ��� ��� ��� ��� ��� ��� ±���

,WDO\ ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

6SDLQ� ±
����

±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

-DSDQ ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

8QLWHG�.LQJGRP ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

&DQDGD ±��� ±��� ��� ±��� ±��� ±��� ±��� ±��� ±����

2WKHUV ��� ��� ��� ��� ��� ��� ��� � ±���

(PHUJLQJ�0DUNHW�DQG�0LGGOH�
,QFRPH��(FRQRPLHV

±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

([FOXGLQJ�0(1$3�2LO�
3URGXFHUV

±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

$VLD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

&KLQD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±����

,QGLD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

(XURSH ±��� ±��� ±��� ±��� ±��� ±��� ��� ±��� ±���

5XVVLD ��� ±��� ±��� ±��� ±��� ±��� ��� ��� ±���

/DWLQ�$PHULFD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

%UD]LO ±��� ±��� ±��� ±
����

±��� ±��� ±��� ±��� ±���

0H[LFR ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

0(1$3 ��� ��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

6DXGL�$UDELD ���� ��� ±��� ±
����

±
����

±��� ±��� ±��� ±����

6RXWK�$IULFD ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±����

/RZ�,QFRPH�'HYHORSLQJ�
&RXQWULHV

±��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

1LJHULD ��� ±��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

2LO�3URGXFHUV ��� ��� ±��� ±��� ±��� ±��� ±��� ±��� ±���

0HPRUDQGXP

:RUOG�2XWSXW��SHUFHQW� ��� ��� ��� ��� ��� ��� ��� ��� ±���
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